AT MiclC

7777 Static Pressure Inlet Cantrol

Dptional items not shown:

7565 Remate Pressure Ssnain% Kit

for inatallation where he
Contral is not instulled in the
gsoe coom gs the animals or

@/@

. _ ® poultry.
Key Description Part No. &
Y =1 photchelic Assembly - 7829
kA ) 2 Pointer Knob 8010 5% — -
~ 2 g10x3/4" Twin Helix Screw-16 used gggg STATIC PRESSURE INLET CONTROL
over U}
s Housifg rast WIRING DIAGRA!
§ 3/8-32 Hex Nut : 7603
7 Rotary Switch - . 8008
*g - Housing Bottom : 7835
g PVC Conduit Fitting & Tube Assembly 7833
10 "0"“ Ring - 7246
11 12" Conduit Fitting 3387
12 -Terminal Box 7823
13 Grommet 7813
14 Box Cover-3 used . 6776
15 .Gasket-4 used : 6777
16 10-32 Hex Nut-10 used 4297
17 * 410 External Washer-10 used 305
18- 10-32 Stud-10 used : 7007
19 Terminal Box . 7824 £ 3
20 ‘Mounting Panel : 7836 o "N\ o
%21 10x3/8 Self Tapping Screw-4 used 5776 =
1#22 Hole Plug-2 used 7832 2 A
*23 Housing Cover Assembly 7864 )
24 Bottle Strap 4805
25 Bottle 4828 .
26 Filter Plug ; 4823 =
27 Hose Stem 5895
28 Flexible Tubing : 5898-1
29 Terminal Box - 8008
30 8-32x2-5/8 Hx. Hd. M.S, - 7230-1
- 31 #8 Flat Washer : 149 Mt )
B S 8 faﬁnﬁﬂuﬂﬂ‘n“ﬂﬁxﬁ'ﬁ.ﬁmw C
*Indicates components of 7827 Photohelic & Housing sl :
.| ot Shown: 7837 Hardware Pkg. for mounting 7777 @) cloulonl deseonec ot
. _Staticv Pvress‘u'r‘e_ _Irﬂet Co‘ntrol. E’.‘Eﬂ;"""“‘“’”"“‘“‘? e oN. ¥IB BLacK

INLET POWER PACK OR INLEY POWER RELAY

-T9/16 - 3ovd )
g1 = SCES-858-vL5 Gpb:8T BIBC/TT/96



